| B 1RA168 | 2A58 |3A128 | 4A238 | 5A228 | 68198 | 7TA168 | 88208 | 98108 | 10A18 |11A128 | 12A3H
2R K B %1 BEoy| 13:58 14:25 14:39 12:20 13:50 13:45 14:20 10:30 14:18 14:40 14:20 13:50
TKEIE ) = D[ & D[ & D[ & D[ & D[ & D[ & D[ & D[ & D[ & D[ & D[ & i)
B3 B i [ R BE[ B 73 73 3 73 73 = = = s |
JK AL m| 0.94 0.97 1.02 1.00 1.00 0.96 1.09 1.12 1.10 0.97 1.02 1.00
B nE m3/sec — — — — — — — — — — — —
2IKE m| 0.73 0.61 0.73 0.72 0.45 0.68 1.08 1.20 1.21 1.09 1.07 1.02
bl FEIKIKE m 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
# ¥ °C 52 0.7 10.4 16.0 18.4 22.5 26.0 21.2 24.0 22.0 12.5 3.5
Al KR °Cc 2.6 25 [ 4.8 10.8 14.0 16.5 19.8 18.0 18.5 17.0 13.2 55
15 LIt ) 215 E?Jéd))é*ﬂ) EREFH | RAEH | REFH | REFH | RGFH | REEH | REFH | REFH | RAEH | REFH [ REFH [ EAFH
EE (2) G - - - - - - - - - - - -
8 [0 (3) (KEIKR) — — — — — — — — — — —
[5M88 (4) (Z0fth) - ! - ! - 1 - ! - [ = 1 = | = [ = [ = 1 = 1 = |
25 CAE) [ B E B E B E B E B E g [ B E B E B E EE g
%% cm| >100 >100 >100 >100 >100 >100 >100 >100 >100 >100 >100 >100
FERE m — — — — — — — — — — — —
S pH 1.1 1.3 1.2 1.3 1.2 1. 1.4 8.2 1.8 1.6 1.8 1.1
b= e BOD mg/L] <0.5 <0.5 0.5 <0.5 0.5 <0.5 0.5 0.8 0.5 0.5 0.6 <0.5
g'“fé cCOoD mg/L 0.7 0.8 0.9 1.3 1.5 1.4 1.5 1.4 1.4 1.6 1.7 1.3
Eﬁfi SSs mg/L <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
1{“’% DO mg/L] 13.1 13.2 12.5 10.7 9.9 9.1 9.2 9. 10.0 9.2 10.8 11.8
20 |[REEEH (1D MPN/100mL 33 8 5 220 33 490 1700 9200 490 490 1300 220
Ef;ﬁ; 2EES mg/L] 0.39 0.32 0.32 0.47 0. 46 0.64 0.39 0.38 0.35 0.43 0.35 0.24
) > mg 0.035 0.032 0. 023 0.044 0.054 0.077 0.048 0.026 0.034 0.048 0.046 0.033
AFSOL me/L— — = = = = = = = = = = =
(B 7> mg/L — — — — — — — — — — — —
gl\ m L —_ —_ —_ —_ —_ —_ —_ —_ —_ —_ —_ —_
65 0L mg/L] = = = = = = = = = = = =
A E% mg/L = = = = = = = = = = = =
(1)) #3 7k 8] mg/L — — — — — — — — — — — —
# [ZLEILKE mg/L[ — = = = = = = = = = = =
B PCB mg/L — = = - - - - - - = = =
o |[Zrooxrs mg/L — = = - - - - - - = = =
= R A mg/L — — — — — — — — — — — —
»SHOOIRY mg/L] = = = = = = = = = = = =
L ->/a0xTFlLy mg/L — = = - - - - - - = = =
2 [TXI72ohoAizLy | ml] — = = = = = = = = = = =
M [l rUs0OIZ- mg/L] = = = = = = = = = = = =
+ [izrysooxss mg/L] = = = = = = = = = = = =
2 Fso0TFL> mg/L — = = - - - - - - = = =
® |[Thzso0zIFlLy me/L = = = = = = = = = = = =
& [3-¥%mmsaxy (b-b) mg/L — = = - - - = = = = = =
% [FosL me/L = = = = = = = = = = = =
£ BT CAn mg/L — = = - - - - - - = = =
#£ [FEARANT R FAA=D) | mg/l] — = = = = = = = = = = =
185 N 7 mg/L — — — — — — — — — — — —
B —_ mg/L — = = - - - - - - = = =
/L — — — — — — — — — — — —
/L — — — — — — — — — — — —
/L — — — — — — — — — — — —
g — — — — — — — — — — — —
|
- - N U B DR B R -
mg/L] <0.01 — 0.01 — <0.01 — <0.01 — <0.01 — <0.01 —
mg/L|{ <0.002 — <0.002 — <0.002 — <0.002 — <0.002 — <0.002 —
mg/L] 0.27 — 0.22 — 0.30 — 0.29 — 0.32 — 0.28 —
mg/L] 0.12 — 0.09 — 0.15 — 0.10 — 0.02 — 0.07 —
mg/L — — — — — — 0.38 — — — — —
= mg/L] 0.39 0.32 0.32 0.47 0. 46 0.64 0.39 0.38 0.35 0.43 0.35 0.24
o mg/L| 0.032 — 0.018 — 0.014 — 0.013 — 0.011 — 0.018 —
x mg/L — — — — — — 0.012 — — — — —
= mg/L — — — — — — 0.043 — — — — —
1t > mg/L| 0.035 0.032 0.023 0.044 0.054 0.077 0.048 0.026 0.034 0.048 0. 046 0.033
15 mg/L — — — - - — 0. — — — — —
g B COD mg/L — — — — — — — — — — — —
s0074)ba ugll < = 4 = 4 = 4 = <l = <l =
SiFv Fy (JxFBER | ugll = 4 = 4 = 4 = 4 = <] =
Eroo74 we/l] = = = = = = = = = = = =
s; mg/L — = = = = = = = = = = =
BT 5 o7 F Bk @a/nl| 18 = ig = i = 9 = 180 = 97 =
WIS s o8 BRI — = = = = = d = = = = =
S OaRLL me/L] = = = = = = = = = = = =
FS5 2 Z-1,2-Sh0ATFLy mg/L = = = = = = = = = = = =
12->sonJanRy mg/L — = = - - - - - - = = =
p—SHhOANSEY mg/L — = = - - - - - - = = =
EDESET D me/L = = = = = = = = = = = =
eI me/L]  — = = = = = = = = = = =
Jr-—toFfy (MEP) | mg/Ll| — = = - - - - - - = = =
(UIOF45> mg/L — = = - - - - - - = = =
EEIDME A o) me/L[ = = = = = = = = = = = =
g [400s0-)L (TPN) mg/L — = = - - - - - - = = =
Bt JOEHYIF mg/L — — — — — — — — — — — —
B |[EEUY (EPND me/l = = = = = = = = = = = =
% [CLOLRX (DDVE) e/l — = = = = = = = = = = =
21/ THh)LT (BPMC) mg/L]  — = = = = = = = = = = =
B {JORUKR (1BP) mg/L — = = - - - - - - = = =
JOj=FrOJzy (CNP) mg/L = = = = = = = = = = = =
LTS mg/L — = = - - - - - - = = =
EIIV] mg/L] = = = = = = = = = = = =
THNBSTIFLATIL | mg/l] = = = = = = = = = = = =
—vgL mg/L — — — — — — — — — — — —
£ ITT me/L] = = = = = = = = = = = =
FUFES mg/L — = = - - - - - - = = =
SoF mg/L — — — — — — — — — — — —
FHES mg — — — — — — — — — — — —
7k§§§ AE E 0.3 0.3 0.5 0.4 0.3 0.3 0.5 0.5 0.5 0.5 0.5 0.4
g ms/m — — — — — — 31 — — = — —
zo |EREXBEER E/ 103 = 7 = a - 38 - 10 = K =
jﬁI‘/i{ﬁ’/%ﬁ mg t 11 9.5 9.5 9.0 11 12 10 10 11 12 13 9.8
§~ 72 i |) m| —_— —_— —_— —_— —_— —_— — — — — — —
i T 1-] FHEEZEBLCOENC EZnT .,



